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Division (International) with a Helper Grid

Name:

Solve each problem.

1) 486 : 6 = 2) 398 : 2 =
3 478 : 2 = 4 32 5=
5 142 : 6 = 6) 151 : 3 =

Answers
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ﬂh Division (International) with aHelper Grid Name:. Answer Key

Solve each problem. ANnswers
1) 486 : 6 =081 2 398 : 2 =199 a1
-0 -2 1.
48 9
-4'8 .18 2. 199
06 18
3 239
-6 -118
0 0 . 6513
5. 23r4
6. 50r1
3 478 : 2 =239 4 328 : 5 =065r3
_4 -0
07 32
-6 -3/0
18 28
-11/8 -12/5
0 3
S 142 : 6 =023r4 6) 151 : 3 =050r1
-0 -0
14 15
12 -11/5
22 01
-118 -0
4 1
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